2-4 to 2-6


1.  Given: SYMBOL 208 \f "Symbol"O is comp to SYMBOL 208 \f "Symbol"2

                SYMBOL 208 \f "Symbol"J is comp to SYMBOL 208 \f "Symbol"1

     Prove: SYMBOL 208 \f "Symbol"O SYMBOL 64 \f "Symbol" SYMBOL 208 \f "Symbol"J


Statement
Reason


2.  Given: SYMBOL 208 \f "Symbol"1 SYMBOL 64 \f "Symbol" SYMBOL 208 \f "Symbol"3

     Prove: SYMBOL 208 \f "Symbol"2 is supp to SYMBOL 208 \f "Symbol"3


Statement
Reason

3.  Given: SYMBOL 208 \f "Symbol"1 is comp to SYMBOL 208 \f "Symbol"3

                SYMBOL 208 \f "Symbol"2 is comp to SYMBOL 208 \f "Symbol"4

     Prove: SYMBOL 208 \f "Symbol"1 SYMBOL 64 \f "Symbol" SYMBOL 208 \f "Symbol"4


Statement
Reason


4. Given:  SYMBOL 208 \f "Symbol"1 is supp to SYMBOL 208 \f "Symbol"2

                 SYMBOL 208 \f "Symbol"3 is supp to SYMBOL 208 \f "Symbol"4

                 SYMBOL 208 \f "Symbol"1 SYMBOL 64 \f "Symbol" SYMBOL 208 \f "Symbol"4

     Prove:  SYMBOL 208 \f "Symbol"2 SYMBOL 64 \f "Symbol" SYMBOL 208 \f "Symbol"3

Statement
Reason



5. Given:  SYMBOL 208 \f "Symbol"A is comp to SYMBOL 208 \f "Symbol"C

                 SYMBOL 208 \f "Symbol"DBC is comp to SYMBOL 208 \f "Symbol"C

     Prove:  SYMBOL 208 \f "Symbol"A SYMBOL 64 \f "Symbol" SYMBOL 208 \f "Symbol"DBC

Statement
Reason


6. .  Given:  
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                SYMBOL 208 \f "Symbol"KOR SYMBOL 64 \f "Symbol" SYMBOL 208 \f "Symbol"PMR

     Prove:  SYMBOL 208 \f "Symbol"ROM SYMBOL 64 \f "Symbol" SYMBOL 208 \f "Symbol"RMO


Statement
Reason



7.  Given:  SYMBOL 208 \f "Symbol"1 is comp to SYMBOL 208 \f "Symbol"4

                 SYMBOL 208 \f "Symbol"3 is comp to SYMBOL 208 \f "Symbol"2

                 
[image: image2.wmf]RT

 bisects SYMBOL 208 \f "Symbol"SRV

    Prove:  SYMBOL 208 \f "Symbol"1 SYMBOL 64 \f "Symbol" SYMBOL 208 \f "Symbol"2

Statement
Reason

More Chap 2 Proofs


1.  Given:  
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,

, SYMBOL 208 \f "Symbol"1 SYMBOL 64 \f "Symbol"  SYMBOL 208 \f "Symbol"4

     Prove:  SYMBOL 208 \f "Symbol"2 SYMBOL 64 \f "Symbol" SYMBOL 208 \f "Symbol"3



2.  Given: SYMBOL 208 \f "Symbol"3 SYMBOL 64 \f "Symbol" SYMBOL 208 \f "Symbol"4, SYMBOL 208 \f "Symbol"1 SYMBOL 64 \f "Symbol" SYMBOL 208 \f "Symbol"2, SYMBOL 208 \f "Symbol"5 SYMBOL 64 \f "Symbol" SYMBOL 208 \f "Symbol"6

     Prove:  SYMBOL 208 \f "Symbol"1 SYMBOL 64 \f "Symbol" SYMBOL 208 \f "Symbol"6



3.  Given:  SYMBOL 208 \f "Symbol"1 SYMBOL 64 \f "Symbol" SYMBOL 208 \f "Symbol"6

     Prove:  SYMBOL 208 \f "Symbol"5 SYMBOL 64 \f "Symbol" SYMBOL 208 \f "Symbol"2


4.  Given:  SYMBOL 208 \f "Symbol"1 is supp to SYMBOL 208 \f "Symbol"5

     Prove:  SYMBOL 208 \f "Symbol"3 SYMBOL 64 \f "Symbol" SYMBOL 208 \f "Symbol"2




5.  Given: SYMBOL 208 \f "Symbol"3 SYMBOL 64 \f "Symbol" SYMBOL 208 \f "Symbol"2, 
[image: image4.wmf]AB

 

 

AE

 

DE

 

 

AE

^

^

,


     Prove:  SYMBOL 208 \f "Symbol"1 SYMBOL 64 \f "Symbol" SYMBOL 208 \f "Symbol"4






6.  Given:  
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bisects SYMBOL 208 \f "Symbol"BCD, 

                 SYMBOL 208 \f "Symbol"3 is comp to SYMBOL 208 \f "Symbol"1, SYMBOL 208 \f "Symbol"4 is comp to SYMBOL 208 \f "Symbol"2

     Prove:  SYMBOL 208 \f "Symbol"1 SYMBOL 64 \f "Symbol" SYMBOL 208 \f "Symbol"2



O





K





1





J





2





2





H





M





4





3





2





1





R





3





2





1





4





3





2





1





1





V





M





K





B





A





P





O





C





D





4





R





3





T





S





C





1





4





D





2





3





4





1





6





5





4





5





2





3





B





A





3





3





2





1





4





5





3





6





1





2





4





1





2





5





B





A





E





C





D








6





C





B





1





A





2





3





D





4








_999506108

_999597610

